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O1 get+=&H 1,200
> =& = 1l o 2E NERES
1,200, 000& 14 1,200
202 o4dl 3,600 3,600 0
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12 JIEtE &2 63,000 63,000 0
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01 At 22l 5,750 5,750 0
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202 (44l 960 960 0
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OJ=MEXN F2e| =N
80,000& x12& 960
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01 MHZ 4l 240 480 A 240
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24,0002 104 240
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= 10,000
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Al 625,164
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>PEs ¢ 2t HEF2Y
3,000,000 x123| 36,000
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Daietx| 2 SEA AX X2
8,000,000 1= 8,000
02 =224 H| 23,600 22,200 1,400
o1 222 ¢ 21,600
>EE3EA [, =22 (102A)
180,000 x 10 A« 12 21,600
O3 AIE&HISX 2,000
>EZF & 2t0 S8
2,000,000 =14l 2,000
202 044l 1,920 1,920 0
01 2L I 1,920 1,920 0
OZ2Z &4 2Zel cEA
160,000& 12& 1,920
307 212t0| ™ 334,500 299,796 34,704
05 QIZ2tE 2 334,500 299,796 34,704
OZE 2 2H0l3 A2 pizelE
27,875,000& x12& 334,500
401 Al HI L 2 0HHI 50,000 35,000 15,000
01 Al& B 50,000 35,000 15,000
O&2F ¢ 2013 24 50,000,000 = 14! 50,000
g3y 2d 50,000 50,000 0
201 gBt2Ad| 50,000 50,000 0
01 AP 22| H| 50,000 50,000 0
O1 Let==H| 50,000
DI 23 22 L ot E AX
50,000,000 x 1Al 50,000
OlsSstAAMEX (44X & WA) 20,000 20,000 0
401 AlEHIZL 2 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
OzZtol (ol = Al) st A2 WA
5,000,000 4= 20,000
SSIEA HE & 2ZeldH XA 135,000 21,595 113,405
== 60,500
Al 74,500
401 AlEHIZL 201 Y| 135,000 21,595 113,405
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Al 74,500
01 Al&H| 135,000 21,595 113,405
OZ2=s&EA AM=s X 100,000, 000& x 14! 100,000
= 50,000
Al 50,000
OZZ=3&A AKX (AR 212Ed)
30,000,000& = 14! 30,000
= 9,000
Al 21,000
OZ2=sH&4A LED Al 5,000,000& x 14! 5,000
& 1,500
Al 3,500
AR GSEALEHEL XN RAE 20,000 0 20,000
= 10,000
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Al 7,000
402 SI2F X201 & 20,000 0 20,000
= 10,000
& 3,000
Al 7,000
02 BIZtXIEANYEX(0OIETHH) 20,000 0 20,000
OF AN st GEHI2XNE ALY
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& 3,000
Al 7,000
Hololtg=H el Ald 22 19,644 39,300 N 19,656
HelGte=HelAle 22| 19,644 39,300 N 19,656
201 Bt 13,764 13,420 344
01 AP 22| H| 1,632 1,632 0
O1 Btx=2H| 1,632
DOHOIBHEREIAE SRAMN 242
8,600& x10H *12& 1,032
DNEEZ SMIE 50,000& ~12& 600
02 2% H| 12,132 11,788 344
O1 2222 2 HA 7,728
PEA QLS S PHLS
330& x1,8004 12& 7,128
PORAXEE SUHNS 22 50,000& ~12& 600
O4 X+ & el 4,404
PRSI (EE8USEY)
4,404,000 = 1CH 4,404
202 04| 5,880 5,880 0
01 2L HI 5,880 5,880 0
OJMelotE=xelAld N=&EAH 260,000 12 3,120
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| | | OJI=E2 i 230,0002 * 122 2,760
HMSAA (22D 197,481 187,853 9,628
[ 24,400
Al 173,081
229y (2 146,217 136, 133 10,084
[ 24,400
Al 121,817
d2dd (223D 64,884 58,466 6,418
101 2124 H| 64,884 58,466 6,418
01 24 64,884 57,018 7.866
OAl2te2 10,2992 %2101 x300 Al 2+ 64,884
A2 (22 81,333 77.667 3,666
= 24,400
Al 56,933
101 2124 1 81,333 77.667 3,666
[ 24,400
Al 56,933
03 2| e 81,333 77.667 3,666
ougs 81,333,000 *14 81,333
[ 24,400
Al 56,933
Zyl (22D 51,264 51,720 A 456
SAH (2H ) 51,264 51,720 A 456
201 LBt A H| 27,864 27.480 384
01 Ak 22/ H] 24,264 23,880 384
O1 gera gy 16,200
DENSYSE 16,200,000 2! 1 16,200
O5 2] 8,064
>Oof2t - U2 8,000 *2101 +45| * 12 8,064
02 B22YHl 3,600 3,600 0
O1 2222 2 HA 3,600
DEYBQR 300,000 x 122 3,600
202 04 Hl 18,000 20,040 A2,040
01 20| 18,000 20,040 A2,040
o=y 1,250,0002 122 15,000
Oty s 2| 3,000,0002! * 14! 3,000
203 YR 4,200 4,200 0
04 2A2™ 4,200 4,200 0
ORANE 350,000 x 122 4,200
405 XHAHE EH 1,200 0 1,200
01 HaUSES 1,200 0 1,200
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